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Xo=97,45,Y,=100,00Z,9598 B,
x=0,3321y,,=0,3407 40
Ao=(ag=[agn+a0,y*3g al) Y

Bo=(bo=[0o,r+b0 v +bo Al) Y

g =g [x/y]

by = by [2M]

ay =1, byp=-0,4

N
n=P55 —40 4% 40
39 y=apy(Y/Y1g-1)
b, y=boy (Y/Y1g-1)

2yy=0,000,b,y=0,000 470
ap,4=0,000,by 4=0,000

Spectral coloursS, ¥{=100 440
max (m) chromatic value, P55 -40

chromatic value Ag, Bg)
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Xu=97.45,Y,,=100,00Z,~9598 B,
x=0,3321y,,=0,3407
Ar=(ag~[aq n+ag y+ag al) Y
By=(by=[by ntby y+by al) Y
8y =ay[(x-0,17Dh]

by =byo [2M]

ay =1, byp=-0,4

a1 y=ay(Y/Y1g-1)
by y=boy(Y/Y14-1)
a,y=0,000,b,y=0,000 470
a, A=0,000,b; 4=0,000
Spectral coloursS, ¥{=100
max (m) chromatic value, P55
chromatic value (A;, By)
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Xw=97,45 Yy=100,00Z,,=95,98
x=0,3321y,,=0,3407
Ax=(8p-[a n+ap y+ap al) Y
Bo=(ba—[bp ntby v+ Al) Y

8 = a0 [(x-0,171y]
b,=ba0 [(Mp1x+bp1)/Y]
ay0=1, byp=-0,4 520 G©
Mpy=-0,169,bp1=0,38

A y=ay(Y/Y1g-1)
by y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000

a, A=0,000,b, ,=0,000
Spectral coloursS, ¥{=100
max (m) chromatic value, P55
chromatic value (A, By)

Ay
40
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Xu=97.45,Y,,=100,00Z,~9598 B,
x=0,3321y,,=0,3407
Ag=(ag-[ag n+ag y+ag al) Y
Bg=(b3~[b3 b3 y+b3 al) Y
a3 =ay [(x-0,17D)/y]
b3=ba [(Mp1x+bp1)/y]
ay =1, byp=-0,4
Mp1=-0,974,1

ag y=ay(Y/Y1g-1)
b y=boy(Y/Y14-1)
a,y=0,000,b,y=0,000

a3 A=0,000,b3 5=0,000
Spectral coloursS, ¥{=100
max (m) chromatic value, P55
chromatic value (A3, B3)
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Xu=97.45,Y,,~100,00Z,~9598 B,
x=0,3321y,,=0,3407

As=(8g[a4,n*34,y+ag A) Y
B4=(bg=[by nthy y+by Al) Y
a4 =ay[(x-0,17Dh]
b=ba0 [(Mp1x+bp1)/Y]
a0= 1, byo= 0,4
Mpy=-0,169,bp

Ay

40
ag y=ay(Y/Y1g-1)
by y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000

ay, 4=0,000,b, 4=0,000
Spectral coloursS, ¥{=100
max (m) chromatic value, P55
chromatic value (A4, By)
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X=97,45,Y,,=100,00.Z,,=95,98
x=0,3321y,,=0,3407
As=(85[85,1*35 y*+a5,A]) Y
Bg=(bs—[bs n+bs y+bs Al) Y
a5=a,,[(+8,61x~7,19~0,26)4]
bs=bp,[(+1,99¢+3,86/-2,40)45
35y = 0,10,05,=0,10 520
Ag.G.y,R=475,503,574,494c,
n = P55
a5 y=ayy(Y/Y1g~1)
bs y=boy(Y/Y1g-1)
2yy=0,000,b,y=0,000

a5 4=0,000,b5 4=0,000
Spectral coloursS, ¥{=100
max (m) chromatic value, P55
chromatic value (A5, Bs)

Bs

As
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Xw=97,45 Yy=100,00Z,,=95,98
x=0,3321y,,=0,3407
Ae=(36[36,1*36,y*+35,Al) Y
Bg=(bs~[be,n+bs v+ al) Y

g = ago [x/Y]

be=boo [((Mpxtbp)y] e
ay =1, byp=-0,4
mp1=—0,974,;

ag y=ay(Y/Y1g-1)
be y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000

a A=0,000,b5 4=0,000
Spectral coloursS, ¥{=100
max (m) chromatic value, P55
chromatic value (Ag, Bg)
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